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Sail No. |Skipper & 1R 2R 3R 4R Total
A+=E  ZENES 1 2 1 1 5
TR NS 2 3 4 3 12
JEH NS 3 6 2 8 19
WF AR EE 5 4 5 5 19
7—/ILE 7 5 7 9 28
RE 4 1{DNF 4 32
£ M AREE 6]UFD 3 2 34
6484 9 10 10 7 36
=K MAREE 8 8 12 11 39
4057 11 7 13 15 46
[ A A B 12 9 11 14 46
= T NES 10 12 16 12 50
iy M AR EE 13 13 14 10 50
FH DNC 14 8 6 51
3089 14 17 9|DNC 63
2305|7% & M AR EE DNC 11 6/DNF 63
A 16 16 17 16 65
HE 15 15|DNF 13 66
IMI 18 19 18|DNF 78
= 19 21 15|DNF 78
A (E) T NES 17 20|DNC DNC 83
WA (TUH) | M KEE 20 18|DNF DNC 84
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